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1. When

P

canal flowing
pressure is carried below a

natural drainage such that its
FSL does not touch the
underside of the supporting
structure, the structure
provided, is called

(A) aqueduct

AB) Superpassage
ptC) siphon-aqueduct

(D) siphon

R

2. A channel has three reaches P,
O andR connected in series with

gthe following properties :

Reach Bed Normal depth Critical depth
slope

0-0005

0-009

0.005

(in m)

2-27

0-82

1·17

A) M2, S2, S3
(B) M1, S, S,
(c) M1, H2, S

RD) M2, S1, S,

under

A) Q, >Of

What gradually varied
profiles will occur?

(B) ,=f
(C) 0,/= constant

(in m)

27/AE/c/M-2022-6/25-D

1:29

1:29

SO

1-29

3. At a gauging site, if Q, is the
discharge at a stage when the
water surface is rising and Q

the discharge at the
stage when the water surface
is falling, then

404681

flow

40468

404681

same

2

discharge
4. A river carrying a

of 100 cumecs has a fall of

200 mn. The power available
an overallfrom the fall using

efficiency of 85% is
A) 1666 MW

(B) 66-67 MW

(C) 166-6 kW
D) 2667 MW

transmnitted
pipes will be maximum when
(A) the head due to friction =

one-fourth the total head
at inlet of the pipe

5. Power

(B) the head due to friction
the total head at inlet of

the pipe

the head due to friction =

one-third the total head at

inlet of the pipe

through

(D) the head due to friction =

half the total head at inlet
of the pipe

6. At two points 1 and 2 in
a pipeline, the velocities are

V and 2V respectively. Both the
points are at the same elevation.

s The fluid density is p. The flow
Can be assumned to be
incompressible, inviscid, steady
and irrotational. The difference
in pressures P, and P, at points

1 and 2 is
A) 1-5pV2

(B) 2py2

(C) 3pv2.

(D) 0-5pv2
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7. Flow net is used for
determination of

A) quantity of seepage

(B) hydrostatic pressure

(C) exit gradient

D) Al of the above

8. Total Kjeldahl nitrogen is a
measure of

i dB) total ammonia nitrogen

Bi 1A) total organic and ammonia
nitrogen

(C) total inorganic
ammonia nitrogen

(D) total organic nitrogen

(A) anaerobic pond

(B) oxidation ditch

the

AC oxidátion pond

404681

9. From amongst the following
asewage treatment options, the

largest land requirement for
a given discharge will be needed.
for

(D) trickling filter

27/AE/C/M-2022-6/25-D
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10. The relative stability of a sewage

sample whose dissolved oxygen

is same as the total oxygen

required to satisfy the BOD is

LA) 100

(B) infinite

(C) zero

A(D) 1

11, If the duty for cropis
864 hectares per cumec on the
field and base period for this
crop is 120 days, then the delta
for a crop is

(A) 864 cm E

(B) 864 m aOr

(C) 120 m to

AÐ) 120 cm

12. The maximum permissible limit
for fluoride content in drinking
water is

A) l5 mg/l

(B) 5 mg/1

(C) 10 mg/1

(D) 0:1 mg/l
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13. Zero hardness of water
achieved by

(A) excess lime treatment

B) ion-exchange treatment

(C) eXcess alum and lime a
treatment

(D) line-soda proceSs

14. IRC recommends

(A) 30% of the live load

longitudinal stresses On the
bridges should be considered as

AB) 20% of the live load

(C) 10% of the live load

(D) 40% of the live load

(A) OCI

15. In disinfection, which of the
following forms of chlorine is
most effective in killing the
pathogenic bacteria?

B) NH,CI

is

C) HOCI

(D) Ci

that

27/AE/C/M-2022-6/25-D

16. For a waste, the 5-day BOD at

20°C is found to be 200 mg/.
For thc same waste, 5-day BOD

at 30 °C will be

A) more than 200 mg/l

(B) 200 mg/1

bacteria
cannot withstand such
high temperature

(C) zero,

less than 200 mg/l

17. In water treatment, slow sand
filter, when compared to rapid
gravity flters, produces

theas

(A) more contaminated effluent

(B) equally contaminated

(C) Uncertain

D) less contaminated effluent

10 mm

18. Bitumen of grade 80/100 means

isks (A) its penetration value is

effluent

AB) its penetration value is
8 mmn to 10 mm

(D) its

(C) its penetration value is & cm
to 10 cm

8 mn
penetration valuc is
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19. As per IRC recommendations,
the maximum spacings of
expansion and contraction
joint in rigid pavements
respectively

A) 140 m, 4:5 m

E) 25 m, 40 m

(C) 140 m, 45 m

(D) 45 cm, 4·5 m

20. The speed and delay studies on
a defined section of a highway
are conducted byo s

(A) trafiic countersbit
B) moving car method

enoscope

radar gun

are

21. In the Tevised CBR design
method recommended by the
IRC for the design of flexible
pavement, the total thickness
depends upon

(A) CBR value of soil and
magnitude of wheel load

B) CBR value of soil and
number commercialof
vehicles per day

CBR value of soil and
cumulative standard axle
load

(D) CBR value of soil only

27/AE/C/M-2022-6/25-D 5

22, As per IRC, the minimum
length of transition curve for
a mountainous terrain road
with radius of curvature 100 m
and design speed of vehicle
100 knph is

(A) 200 m

B) 100 m s

(C) 170 m

270 m

23. The weight of tracked vehicle
considered for class 70R loading
as per IRC is

xlA) 600 kN

/B) 700 kN

(C) 800 kN

(D) 500 kN

24.The fixed type bearing used in
Lbridges is

(A) sliding plate bearing

elastomeric bearing

C RC rocker bearing

(D) None of the above

PT.O.
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25. The value of the impact factor
for the concrete bridge of 3 m

Span is
A) 0:5

07
(C) 0-9

(D) 0:3

26. The minimum width of carriage
way for a two-lane bridge, other
than minor village roads and
national highways, is
(A) 55 m

LtB) 7-5
m

(C) 9 m

* (D) 425mta

decreases

27. With the increase in capacity
inflow ratio, the trap eficiency
of a reservoir

(B) remains unchanged

(C) may increase or. decrease

VD) increases

404681

which
28. The critical shear stress, at

the incipient motion

of sediment takes place, is

proportional to

VA) d
(B) /2 g

404681

(C) a2

where d is grain size.

27/AE/c/M-2022--6/25-D

29. Pure clayey soils are generally

not preferred for the central

impervious cores of Zoned type

of earthen dams because

depending upon reservor S (D) cone of depression
characteristicGE

6

(A) clays are highly impervious

(B) clays are highly pervious

4C) clays aresusceptible to

cracking

i31.

(D) None of the above

30. The line joining the static water
levels in several wells excavated
through a confined aquifer is

known as

1AA) piezometric surface

(B) perched water table

ge(C) hypsometric curve

The relation between
missibility (T) and permeability
(K) for an aquifer of depth (B)is

w(A) T= KB

AB) T= Klog B

(C) T =1n (KB)

(D) K = TB

trans
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32. For the head regulator, the35. Penman's èquation is based on

most severe condition of uplift
pressure on the floor occurs
when

n

AA) the canal runs dry and the
river flow is at high flood

level

canal runs at full(B) the
supply depth and the river
flow is at pond level

(C) the canal runs dry and the
river flow is at pond level

D) the flow in the level is at

flood level and carnal
t running at full supply depth

33. Canal drops are required to

(A) dissipate excess energy

B) dissipate inadequate land
slope

(D) None of the above

Ej dissipate excess land slope

34. The soil becomes partially
infertile when its pH value is
about e

(A) zero

is

(B) 7

404681

(D) None of the above

27/AE/C/M-2022-6/25-D
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A energy budgeting and water
budgeting

nB) energy budgeting and mass
transfer
water budgeting and mass
transfer

(D) energy budgeting only

36. The ratio of AET to PET lies
between

A) O-6 to 0-9

LB) 0 to 1·0

(C) 0-9 to 10
(D) 0 to 06

37. A through bridge is one with

d) bridge flooring provided at

the top of superstructure

bridge flooring provided
at the bottom of super
structure

(C) bridge flooring provided at
some intermediate level of

d rii superstructure

(D) None of the above

38. In class B train of vehicles
loading, the nose to tail distance
between successive trains

shall be less than 18 m

not be less than(B) shall
900 m

(C) shall be less than 900 m

D) shall not be less than
18-5 mns2

|P.T.0.

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


39. The term wash load" refers to

(A) the suspended load during
a flood

B) the part of suspended load
comprising of particles not
available in the bed material

(C) the bed load after the fines
have been washed out

(D) the saltating part of bed
material load

40. Tortuosity in a meandering river
is

greater than 1

B) less than 1 bi

(C) less or greater than 1,

depending upon the river

(D) 1

41. A person standing on the bank
of a canal drops a stone. on the
water surface. He notices that
the disturbance on the water is
not travelling upstream. This is
because the flow in the canal is

AA) supercritical st
(B) steady

(C) uniform Nie i

(D) subcritical

27/AE/Cc/M-2022-6/25-D 8

42. A culvert is designcd for a peak

flow O, on the basis of rational

formula. If a storm of the same

intensity as used in design but
of duration twice larger occurs,

then the resulting peak

discharge will be
(A) 20p

ep12ct

D) ep

43. Which of the following
statements is correçt aS per
Lacey's method for design of

alluvial channels?
rlsegs (A) Hydraulic radius increases

with an increase in silt
factor.

B) Wetted perimeter decreases
with an increase in design
discharge.

(C) Wetted perimeter increases
with an increase in silt
factor.

LD) Wetted perimeter increases
with an increase in design
discharge.

44. A stilling basin is the one
A) which is provided at the foot

of a spilway for energy
dissipation

(B) which is provided in headrace for desilting purposes
AE) which is used to regulate

the water supply to a power
plant

(D) None of the above
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45. A penstock is 3000 m long.148. When
Pressure wave travels in it

with a velocity 1500 m/s.
If the turbine gates are closed
uniformly and completely in
4-5 s, then it is called a

(A) slow closure

wAB) sudden closure

(C) uniform closure

XD) rapid closure

46. The relationship among specific
yield (S,), specific retention (S,)

and porosity (n) of an aquifer is

(A) S, =S, -n

LB) S, =n-S,

(C) S, = S, + 2n

(D) S, = S, +n

47. The clogging of well screens and
consequent reduction in pump

efficiency is indicated by

A) high value of well losses

(B) low value of well losses

variable value of well losses

(D) None of the above

27/AE/C/M-2022-6/25-D 9

rectangular supprcssed weir,
thebencaththe

water flows OVer

pressure
nape is

KA) slightly above atmospheric

(B) just equal to atmospheric

C) negative

(D) very high

49. In a barrage, the crest level is

kept

(A) high with large gates

(B) high with no gates

(C) low with no gates

) low with large gates

50. If the peak load for a power

plant equals the plant capacity,
then the ratio of capacity factor
to load factor will be

(A) 0

(B) >1

(C) <1

P.T,O.
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